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LEARNING OBJECTIVES

* Ordered Palr

» Cartesian System

* Plotting a point in the
plane.

* Problem and Solution



PLOTTING OF POINTS

In order to plot the points in a plane, the algorithm used
is as under.

A Y
e Draw  two  mutually °
perpendicular lines | ‘Z
intersecting at the centre of | A _(p.,9)
graph paper; one line XOX' > |
. . T2
is drawn horizontal and [, d
YOY is drawn vertical. e O l — X
5-4-3-2-10 123 4
-1t <—p—B

« Name the point of

) . o -2
intersection as O (origin). sl

41
* Select a suitable scale sl
according to the given data 6l

and mark the points on |
both axes. vy
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Example:

O

Plot the points (6, 4), (- 6,- 4), (- 6, 4) and (6,- 4) on the Cartesian plane.

Solution:

As you can see in (6, 4) both the numbers are positive so it will come in the first quadrant.
For x coordinate, we will move towards the right and count to 6.

Then from that point go upward and count to 4.

Mark that point as the coordinate (6, 4).
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Similarly, we can plot all the other three points.




Plotting the points of the type (x,0) or (0,y)

O

A point on the x-axis has zero distance from the x-axis so coordinates of any
points on the x-axis will be (x,0)

A point on the y-axis has zero distance from the y-axis so coordinates of any
points on the y-axis will be (0,y)




Question1 : Plot the points (-2, 0), (2, 0), (2, 2), (0, 4), (-2, 2) given
in order. What figure do you get?

Question2 : Plot the points(3,-4),(2,3),(-3,-4),(-2,3).In which quadrant
do the given points lie?




SKILL GENERATED

O

1. Drawing the Cartesian plane,

2. Plotting the points in the Cartesian plane.




Thank You !




